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I ES 421 41| 83 11.5 65.5
2B =K ER 39| 45| 84 15.5 68.5
M [ KEF FX 40 42| 82| 12.5 69.5
EEATEE: €3 46] 46| 92| 21.5 70.5
5 [lBAR FE 43| 40| 83 11.5 71.5
6 mik #LE 40 46| 86| 14.5 T1.5
M &% E 44 45 89| 15.5 73.5
S B ES 45| 49| 94 20.5 73.5
ofi |EE ME= 40| 44| 84/ 10.5 73.5
106 ;B MX 49 47| 96| 21.5 74.5
1 [FHFE EA 43| 44| 87| 12.5 745
126 EAX FEH 40/ 42| 82| 1.5 745
136 [fE —RB 42| 44| 86| 10.7 75.3
141 R EZ 50 52| 102 26.7 75.3
156 [HE FX 43| 43| 86/ 10.5 75.5
166 &% & 53] 46| 99| 22.7 76.3
176 [E& =B 50/ 53| 103 26.7 76.3
1861 [[EK BE 49] 47| 96| 19.5 76.5
196 R #HE& 42| 50 92| 15.5 76.5
2061 |[[R@A Fh 55| 47| 102 24.5 71.5
2161 |88 & 46] 46| 92| 14.5 T1.5
22061 |[fhiE ERE A7 46| 93] 14.5 78.5
2361 [RH CFE A5 46] 91 11.7 79.3
2461 B EH 49| 45 94| 13.8] 80.2
2561 |BiE BB 45| 53] 98] 17.5 80.5
2661 (A #F 57 50| 107 25.5 81.5
211 [ B &S 48] 53| 101] 18.5 82.5
2861 |E@A @B= 50 52| 102 17.5 84.5
2961 | KK X 51 51| 102 16.5 85.5
06 £ EB 55| 53| 108 20.5 87.5
it [ EH =EEH 58 52| 110] 16.5 93.5
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